SVYA4X T8y F#F A=k bO—7 Fa—7

@ )
WREEE1 =AY Ilmll |
STHAT 1R b——
B e o BEAF1-—T =P ol . RS i
ALK RE 4% (mm) U TR L B M T T )
483-262567 KQ2E04-00A 4 M12X1 14 27.3 13 13.3 -7 ¥ 303
483-262568 KQ2E06-00A 6 M14X1 17 27.3 15 13.3 T—7Fv ¥ 322
483-262569 KQ2E08-00A 8 M16X1 19 29.1 17 14.2 *-7v ¥ 389
483-262570 KQ2E10-00A 10 M20X1 24 31.9 21 15.6 #—7Fv ¥ 512
483-262571 KQ2E12-00A 12 M22X1 27 347 23 17 #—7v ¥ 588
483-262572 KQ2E16-00A 16 M28X1.5 32 41.9 29 20.6 F—7>  ¥1,457
2#.*.:-}:1—'?;
1] ,-"l
] E """" I
?E,Enn T =3
BT = 3
J SR,
» WREE TILK Ilmll i
FEHAM1E ' g
SR o Eﬁﬁﬂ'— 7 VAV==P Yl o TR i
TTUt— ALK RE & (mm) w8 E B M i (8
483-262573 KQ2LE06-00A 6 M14X1 17 15.5 29.6 15 13.3 F—=TY ¥369
e i 483-262574 KQ2LE08-00A 8 M16X1 17 17.2 32.3 17 14.2 F=Tv ¥447
483-262575 KQ2LE10-00A 10 M20X1 22 19.3 37.9 21 15.6 -7~  ¥556
REE
,
E-5— 4 1 g
FP—RE-9— ?E:&III:I g 5 1 l
AYN—5 /‘ '
e W55 I I S BEEEEY A T
AYTUDT FEEA 118 I|||I
F—— 5 ke o Fﬁ"“ﬂi?‘jfr 2 RS i
tou/:}jUD{yg AENI—R BE (¢ ®D L A (118) (18)
483-262000 KQ2P-04 4 6 32 18.7 F—=7v ¥ T3
VAU 483-262001 KQ2P-06 6 8 35 217 -7 ¥ 73
VF—U— 483-262002 KQ2P-08 8 10 39 248 T-7v ¥ 73
SAZYTNIN 483-262003 KQ2P-10 10 12 43 27.4 F—7 ¥109
94397 F—1) 483-262004 KQ2P-12 12 14 455 285 -7~  ¥116
483-142484 KQ2P-16 16 20.9 47 26.4 =7V ¥117
2705wk e
FIv o . )
e - Swo : e I e :
o> @/ R [ e
NAVRIL 3 L V==
Hn5—-FUL ¢ Rl L
Ayl BAE—karbhOo-3 II"'II | T e
EOECCANN 5 ki1 118 Lema | 5
:F‘\"Xg_ 5 31
Al s Ea—R RE bes || H L1 12 13 SO K Tl
BoE/NILT 484-142609 AS2201F-01-06S 6 1/8 12 204 275 13.4 13.5 *—-7v ¥ 957
#F  484-142610 AS2201F-02-06S 6 174 17 25.2 34.4 17.7 7. A-7Y ¥1,082
e 484-142476 AS2201F-01-08S 8 1/8 12 25.3 324 134 185 -7~ ¥ 957
O - T 484-142477 AS2201F-02-08S 8 1/4 17 27.2 36.4 17.7 185 7—7Y  ¥1,082
484-142478 AS3201F-03-08S 8 3/8 19 29.5 41 19.8 35.2 -7~ ¥1,394
FryJovJ
JvE-O(F
EHTE
@/ m&m
AIETE
SHRIRES
vy, EEUILEVF1-T(R) |||||||
EHIEES FOEHGI1E
L& 5 e o . R TERES] B/ VB 4R 2 e RS i
FAL TR AR RE ez Py = mm) (mm) (mm) as (8
484-140927 TU0425B-20 25K 0.8 10 4 2.5 F7-7v ¥ 1,175
T=7 484-140934 TU0604B-20 28K 0.8 15 6 4 =7~ ¥ 1,763
484-140941 TUO805B-20 225K 0.8 20 8 5 *—7v ¥ 3,784
SRR 484-140948 TU1065B-20 25K 0.8 27 10 6.5 -7 ¥ 5,264
RiEA 484-140955 TU1208B-20 =K 038 35 12 8 4-7~ ¥ 6,909
- 484-142479 TUO0425B-100 25K 0.8 10 4 25 =7~ ¥ 5,640
REMAR 484-142480 TU0604B-100 25K 08 15 6 4 -7~ ¥ 8,343
484-142481 TUO805B-100 =5k 038 20 8 5 A=7>  ¥17,978
2% - 5 484-142482 TU1065B-100 25K 08 27 10 6.5 7-7v  %25,028
484-142483 TU1208B-100 225K 0.8 35 12 8 -7  %32,783
TH. EFFTCOTEXICT T EFEFTOTENICT TH. EFFTOTEXICT
030 HAav—I9DRA %_EE.lléiElmﬁ(:wim ;@Jeauweﬁﬁlcubim ZNZNEM3,5,7 AARHFEITEDET




